| N of reco track vs normalized x? |

Ratio

'++11

[
N of reco track vs. §

S ) 4 6 8 1012]4]0]820
track x?

H
2
i

=
o
©

R B L L

|

iy N
I’Ii I‘I

[Nofass

ociated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

2 F e 2
Q [} L M Q
S 5 SO 8
*%:10 210; . E
] A 8
10°F g
10°F
10
1= i
o = E. 1 1 1 1 1 °
[ R I
e A
ty "
[..0%,. : kb
0'”02468101214161820 0 2 4 4 16 18 20 0 2 4 6 8 10 12 14
track X2 track x?
I:m
2 L F 2
8 105 @ g
5 10°F £ 10t =
s E §1o s s
E < B <
4 = e =
108 10° E)
k=]
10°k
M
102 — l.n.....s..' ....................................

Ratio

Ratio




	Contents
	Page 1


